3) 2420 15=0 3//5
5)2x2—3x—5=0\5/a =
/

7 5x> —18x* +9x =

9) n2—-8=-2

11) 5x%—-6=159

13) 7—4n> =505 1 g@ \
Solve each equation by completing the square.

14) 8x?—64=-16x | 3  —~ Lf

16) 4m* —21=-8m ,_3, =7 ‘
A/

12) 8x>-10= _
) 8x 15051_-&6' |

e —

15) m* +15=8m S l

17) @ ~6a=-T8 2 + L‘Wﬂ—&l

B

A \_w =y

20) 11v* - 10v —48=10 /,ﬁgv,,,,,.g :
Find the discriminant OWuation then state the number and type of solutions.

5 W rgal 1yyaronal
% - T L

22) 6n* +

58 Pwo Yeal rrati

24) 12k2 + 14k =9 F4k°

QU two redl




VT
£ LA

36) 5x* — 14x2 — 24 =|

38) 5x° —21x2 — 205 =0

: 'erte a polynomial functio egree that has real coefficients, the followiﬁg z’e
leading coefficient of 1.

39 - 40)
J$(x)= x>~ 10x% +B1X-30 |

A polynomial function with rational coeﬁ"chients has the following zeros. Find all a
Zeros.

41) = = 42) -1,
-2 - 3(/ ,9\+ab gh-r: )

43) 2, 4, -4, B3+ N5 J—— 44) '5;
S |

H'al/; —'9\ a(./

Identi u:ggﬂgof each«'i’hen sketch the graph.

46) y=(x-1)’ \ \/Q/Y\'Cx (‘ D> 4?) y——x £
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